**Public Document Pack** 



# Agenda

Notice of a public meeting of

General Licensing and Registration Sub-Committee

- To: Councillors Tim Grogan, Andrew Lee and Andy Paraskos.
- Date: Friday, 16th August, 2024

Time: 12.30 pm

Venue: Council Chamber - Civic Centre, St Luke's Avenue, Harrogate, HG1 2AE

Members of the public are entitled to attend this meeting as observers for all those items taken in open session. Please contact the named democratic services officer supporting this committee if you have any queries.

You may also be interested in <u>subscribing to updates</u> about this or any other North Yorkshire Council committee.

Recording is allowed at Council, committee and sub-committee meetings which are open to the public. Please give due regard to the Council's protocol on audio/visual recording and photography at public meetings. Anyone wishing to record is asked to contact, prior to the start of the meeting, the named democratic services officer supporting this committee. We ask that any recording is clearly visible to anyone at the meeting and that it is nondisruptive.

# <u>Business</u>

6. Application for renewal of Private Hire Vehicle Licence (Pages 3 - 8) To receive a report of the Corporate Director - Environment.

#### Agenda Contact Officer: David Smith, Democratic Services Officer Tel: 07542 029870

Email: david.smith1@northyorks.gov.uk

Thursday, 8 August 2024

This page is intentionally left blank

5 Weston Court Ellerbeck Way Middleborough TS9 5GA



Agenda Item 6

Stokesley Taxis 4 Weston Court

TS9 5GA

#### Tel: 01642 686970

Email: martin@stokesleygarage.co.uk Company registration number: 12597250 VAT: 356 9382 56

## Invoice

Invoice number:	2400319	Registration:	FP63 AVK
nvoice date:	11/05/2024	Brand:	Mercedes-Benz
Page:	1 of 1	Model:	E Class E220 SE CDIAUTO
Appointment date:	11/05/2024	Mileage:	267340 Miles
Debtor number:	655	First admission:	14/11/2013
Work order number:	2024000482	MOT expiration date:	23/02/2025
		VIN:	WDD2120022A916448

Description	Quantity	Unit price	Discount	Amount	
Renew the thermostat and carryout coolant system bleed	1.80	£65.00		£117,00	1
Thermostat	1.00	£73.11		£73.11	1
Antifreeze	4.00	£7.98		£31.92	1
Sundries/Consumables	1.00	£2.50		£2.50	9

Recommendation-

Customer to monitor coolant level

VAT-CODE	%	VAT base	VAT amount
1	20.00	£222.03	£44.41
9	0.00	£2.50	£0.00

Please note if the wheels have been removed from your vehicle, it is the customers responsibility to re-check all nuts/bolts after 100 miles or call back for a retorque

Payee STOKESLEY GARAGE LTD

Acc No:

5 Weston Court Ellerbeck Way Middleborough TS9 5GA



Stokesley Taxis 4 Weston Court

TS9 5GA

### Tel: 01642 686970

Email: martin@stokesleygarage.co.uk Company registration number; 12597250 VAT: 356 9382 56

# Invoice

Invoice number:	2400377	Registration:	FP63 AVK
Invoice date:	08/06/2024	Brand:	Mercedes-Benz
Page:	1 of 1	Model:	E Class E220 SE CDI AUTO
Appointment date:	08/06/2024	Mileage:	271590 Miles
Debtor number:	655	First admission:	14/11/2013
Work order number:	2024000581	MOT expiration date:	23/02/2025
		VIN:	WDD2120022A916448

Description	Quantity	Unit price	Discount	Amount	
Renew the front brake pads	0.90	£40.00		£36.00	1
Brake Pad	1.00	£78.27		£78.27	1
Renew the rear brake pads	0.90	£40.00		£36.00	1
Brake Pad	1.00	£41.46		£41.46	1
Bed brakes in for 500 miles,					

All wheels torqued 140nm

VAT-CODE	%	VAT base	VAT amount
1	20.00	£191.73	£38.35

Please note if the wheels have been removed from your vehicle, it is the customers responsibility to re-check all nuts/bolts after 100 miles or call back for a retorgue

Payee STOKESLEY GARAGE LTD

# Acc No:

5 Weston Court Ellerbeck Way Middleborough TS9 5GA



Stokesley Taxis 4 Weston Court

TS9 5GA

#### Tel: 01642 686970

Email: martin@stokesleygarage.co.uk Company registration number: 12597250 VAT: 356 9382 56

# Invoice

Invoice number: Invoice date: Page: Appointment date: Debtor number: Work order number:	<b>2400484</b> 12/07/2024 1 of 2 12/07/2024 11:21 655 2024000616	Registration: Brand: Model: Mileage: First admission: MOT expiration date: VIN:	Merce E Clas 27623 14/11/ 11/07/	FP63 AVK Mercedes-Benz E Class E220 SE CDI 276233 Miles 14/11/2013 11/07/2025 WDD2120022A91644		
Description		Quantity	Unit price	Discount	Amount	
Renew the front left shoc	k absorber	2.20	£40.00		£88.00	1
Shock Absorber		1.00	£267.00		£267.00	1
Coil Spring		1.00	£97.00		£97.00	1
Strut Top Mounting		1.00	£71.50		£71.50	1
Taxi Labour Rate carryou	ut full service	1.80	£40.00		£72.00	1
Air Filter		1.00	£42.17		£42.17	1
Fuel Filter		1.00	£102.06		£102.06	1
Oil Filter		1.00	£10.62		£10.62	1
Cabin Filter		1.00	£28.04		£28.04	1
Engine Oil		1.00	£43.41		£43.41	1
Engine Oil		2.00	£17.24		£34.48	1
Continued on next page	2					

5 Weston Court Ellerbeck Way Middleborough TS9 5GA



Stokesley Taxis 4 Weston Court

TS9 5GA

#### Tel: 01642 686970

Email: martin@stokesleygarage.co.uk Company registration number: 12597250 VAT: 356 9382 56

### Invoice

Invoice number:	2400484	Registration:	FP63 AVK
Invoice date:	12/07/2024	Brand:	Mercedes-Benz
Page:	2 of 2	Model:	E Class E220 SE CDI AUTO
Appointment date:	12/07/2024 11:21	Mileage:	276233 Miles
Debtor number:	655	First admission:	14/11/2013
Work order number:	2024000616	MOT expiration date:	11/07/2025
		VIN:	WDD2120022A916448

Continued from previous page	
------------------------------	--

	Quantity	Unit price	Discount	Amount	
Description	Quantity	of the price	010000		-
Environmental Charge	1.00	£3.50		£3.50	9
Screenwash	1.00	£0.75		£0.75	9
Taxi Test	1.00	£45.00		£45.00	9
Renew n/s/flower suspension arm and ball joint	1.00	£40.00		£40.00	1
Ball Joint	1.00	£33.78		£33.78	1
Suspension Arm	1.00	£99.17		£99.17	1
AC Regas R134A with dye	1.00	£60.00		£60.00	1
Sundries / Consumables	1.00	£2.00		£2.00	1
<b>_</b>					

Both front wheels torqued 140nm,

Locking key in luggage compartment

VAT-CODE	%	VAT base	VAT amount
1	20.00	£1,091.23	£218.25
9	0.00	£49.25	£0.00

Please note if the wheels have been removed from your vehicle, it is the customers responsibility to re-check all nuts/bolts after 100 miles or call back for a retorque.

#### Payee STOKESLEY GARAGE LTD

Acc No: Sort Code:

5 Weston Court Eilerbeck Way Middleborough TS9 5GA



Stokesley Taxis 4 Weston Court

TS9 5GA

#### Tel: 01642 686970

Email: martin@stokesleygarage.co.uk Company registration number: 12597250 VAT; 356 9382 56

# Invoice

CDIAUTO
16448
,

Description Quantity Unit price Discount Amoun	
Ball Joint 1.00 £34.22 £34.22	1
Suspension Arm 1.00 £112.59 £112.59	1
Taxi Labour Rate renew o/s/flower arm and suspension ball joint 1.00 £40.00 £40.00	1
Renew both front brake discs 1.60 £40.00 £64.00	1
Brake Disc 2.00 £65.60 £131.20	1
Both front wheels torqued to 130NM,	

Please bed brakes in for 500 miles,

Damage to undertray.

VAT-CODE	%	VAT base	VAT amount
1	20.00	£382.01	£76.40

Please note if the wheels have been removed from your vehicle, it is the customers responsibility to re-check all nuts/bolts after 100 miles or call back for a retorque.

Payee STOKESLEY GARAGE LTD

Acc No: Sort Code: This page is intentionally left blank